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QL. Solve 2" + 6y + 4y = cos(e®).
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Q2. Solve the initial-value problem
y" =y 4y =0, y(0) = (0) = y'(0) = V3.
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3. Find a particular solution for
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k. Use the substitution 2 = e to transform the equation
1
2y + V= Inx

to a ditferential equation with constant coefficients, and then solve it.
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Q5. Which of the following sets of functions is linearly dependent on {—oc, +00)7
(a) {Hx,2sin" 2, 3cos’ 2}
(b} {cos?a,sin® z,sin 22}
(¢} {eec? z,tan’ z, v}
= (d) {(r-+ 1) (x~ 1)% 3z}
(e) {(z+2)% (x+1)% 20}

Tk s Qasa ke see \\,\A: 1 ) 0
(x-V]= - X)) (X1 X
371Q<+\§“v_§zl_(x-\§%,, %X{(x.\.\)-@ \\:} %(’xg X)) (X
o :5.‘_-'_ . 2)( . 2, = 3 X
Ty g(%-\-\)i’, (XASL,'SX is Qive
| (x i Tnd 'emrlem}»
C\ em\é cxm \\m @\\\m %a\ts ane -“unean {vz Weep

o.f\,\xé C‘\Q?%r\ QM*



http:Q..:I"Q.OJ

Exem 1T Math 202, Code 1 (Term 123} Page 6 of 9

Q6. Let fiz) = rsin(2x) + 2% cos 2. Which of the following differential oper-
ators is an anuihilator of f(x)7?
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(¢} —2(D?— 6D +10)3(D + 4)?
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(e) (D* 4+ 6D+ 10)*(D? - 4)?
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Q7. Given that i (z) = x is a solution of
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a second solution linearly independant of y;(2) could be
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Q8. A particular solution of
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Q9. Which of the following functions is a solution to
xiﬁgm . 3:3;" + 5!/ =0
on (0, --00).

R
o}

—tla) - 77% sin{ln )
. f
(b} - o + 132% cos{In 2}
(¢} &% cos(lnz) — 1927 sin(ln2)
Y 9.
(d) =+ 112 cos(luz) — 622 sin(ln 2)
z

(e} 1br*cos(lna) — 16x% sin(ln z)

T\\L&; C'\\.&C\w tu\en, -Q,C\_M \vax \!\:‘.LS M’m‘tdﬂ.& Q,Q%mn\”t@% .
\Y\(m \(m..:z,)..m.»,’S-co L€, \m Bwmiam 485 =0

Ce o l)(mt 4m+5) =0

. I
= -\ W\,;Z..: 2—-}'(. Ck/uxc\ W\a 2

W\R Y‘M\a ahe . W, )

e f’iu\cm\ selhion 15
7'-" ,C.:.L-+ X Q@A(\“x)_[.C X Sm(nx) , X e
X




"L ameder \23”

- MCQ Key Solotion. Rxam 2, Mathz02
| Code 1

Co<>\€-2. COC!EL 3 C@Je 4-
Q5 | @) ) © | ey
Qe | &) () @) (5)
QF | (e (@) d) (B
Qs | &) (e) (é) ()
CERC (€) <) (€)




